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(1) f(x,y) = 23 + 5x? + 2y + y2—|—3x—3y+1
(2) f(x, y)—:v + 3zy? + 4y — 3z + 1
(3) flwyy,2) =2+ 2> —=3a? +y* =32z +3x —4y+ 32— 1
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ooo flz,y)=x—vy (2)DDD flz,y,2) = zyz
00 g(z,y) =222+ 3y* =1 00 g(zy,2) =22 +1y> + 22 =1

(1)

goo 322 4 2y + 42% + dxy + 422
oo r+y+z=1
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000 3z] — 8129 + 375
U0 z+2y <8, 3z+y <9
x>0, y>0
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(1) 000 /{ )2+ 22y} da
0o —0,y(1) = 5/3
- w/6 y/(x)?,
(2) ooo  J(y) .—/0 {COSziL‘} dx
0o y(0) = 1,y(7/6) = 3/2
N 0oo J(y) /OW{Zy( )sinz + g/ (x)2} da
00 G)i= [ wa)ds =1, 9(0) = 0,y(m) =0
000 Fy) = /0 {(y/(x) — cos(7rm))2 + Qemy(:c)} dx
@ oo o) = [ a2,

y(0) =2, y(1) =



